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Secondary 3 Honors
2-3 Notes Real Zeros with Long and Synthetic Division

Divide the two functions using LONG DIVISION and write a summary statement in fraction

form.
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Divide using SYNTHETIC DIVISION, and write a summary statement in fra(ctlon form)
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Real Zeros of a Polynomial

Remainder Theorem: If a polynomial f (x) is divided by (x — k), then the remainder is
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Examples: Use the remainder theorem to find the remainder when f(x) is divided by (x — k).
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Rational Zeros (Roots) Theorem: Tells us how to make _@, f all potential rational zeros for a

polynomial with integer coefficients. factors of congfant
fadors of leadihg (oef.

Examples: Use the Rational Zeros Theorem to write a list of all potential rational zeros. Then
determine which ones, if any, are zeros. "= O
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o f(x) =\3Jx4 — 7x% — 8x% + 14x +8,
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